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Question Number : 1 Question Id : 201298781 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which IP addresses are kept reserved for multicast groups?

Options:
1 % 128.1.0.11t0 191.255.255.254
> % 192.0.1.11t0223.255.254.254

> o 224.0.0.0 to 239.255.
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Line Question Option : No Option Orientation : Vertical
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Options:

1 % 128.1.0.1 to 191.255.255.254

> = 192.0.1.1 to 223.255.254.254
z v 224.0.0.0 to 239.255.255.254

4 % 240.0.0.0 to 254.255.255.254

Question Number : 2 Question Id : 201298782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The higher order bits of the first octet of IP addresses belonging to class D are always set to:

Options:
L % 0011
> 1110

5 % 0000

4 % 1111
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Options:

. % 0011
5 ¢ 1110
- = 0000

4% 1111

Question Number : 3 Question Id : 201298783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is NOT true?

Options:
Kernel is a program that constitutes the central core of the operating system.

o

1

Kernel is the first part of operating system to be loaded into memory during booting.

[
®

-  Kemel is made of various modules that cannot be loaded in running operating system.

Kernel remains in the memory during the entire computer session.
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Question Number : 4 Question Id : 201298784 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Enabling special effects in desktop customisation can cause which one of the following effects?
Options:

, w Personal computer (PC) becomes faster

> « PC becomes slower
z % Hard drive becomes full

4 » DBattery issues are caused
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Question Number : 5 Question Id : 201298785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What do you call a computer on a network that requests files from another computer?

Options:
1 « Aclient

> % A host
= % A router

4 % A web server
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Question Number : 6 Question Id : 201298786 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is a non-volatile memory?

Options:
L % Random Access Memory

-  Read Only Memory
5 % Virtual Memory

4, % Cache Memory

Question Number : 6 Question Id : 201298786 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 7 Question Id : 201298787 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What is a plotter?

Options:

, % Aninput device to produce good quality graphics.



-  Anoutput device to produce drawing and graphics.
- % A fast output device using camera lens.

4 » Itisadigital camera.
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Question Number : 8 Question Id : 201298788 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which command allows you to mark the areas that vou want to keep in a picture in MS PowerPoint 20167

Options:
, w Discard All Changes

> % Mark Areas to Retain

5  Mark Areas to Keep

4 = Keep Changes

Question Number : 8 Question Id : 201298788 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:

, = Discard All Changes




- % Mark Areas to Retain

5  Mark Areas to Keep

4 » Keep Changes

Question Number : 9 Question Id : 201298789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following functions CANNOT be performed from Windows Control Panel?

Options:

, w Configuring printer

> % Uninstalling of applications
-  Running applications

4 % Adding fonts
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Question Number : 10 Question Id : 201298790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The scroll box on the vertical scroll bar indicates:

Options:

, w Position of the insertion point from the top of the page.

-~ % The distance of the insertion point from the left margin.



5 % [Iherank of the word in which insertion peint is found.

4 « Current relative location of the document portion that is displayed in the window.

Question Number : 10 Question Id : 201298790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 11 Question Id : 201298791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The list contains programs thet accomplish a variety of tasks commonlby reguired to be done by a computer.
Moozt of thess programs. such as Calculator. Snipping Tool, and WordPad, are installed with the Windows 10 operating
Sy slem.

Options:

| % Helper Programs

> % Windows Necessities
= % Windows Ultilities

4 « Windows Accessories
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Single Line Question Option : No Option Orientation : Vertical
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Options:

| % HEIes FTOFH (Helper Programs)



> % =19 3mg™saT (Windows Necessities)

. » TSI 3TAFET (Windows Utilities)

. v Hesis TEHEdS (Windows Accessories)

Question Number : 12 Question Id : 201298792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In MS Excel, macros are “run’ or executed from the tab.

Options:
1 % Data

> % Review
-  Developer

4 % Run

Question Number : 12 Question Id : 201298792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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MS Excel &, &= T ¥ "= o Feed e e #
Options:

1_@:3%31’

(EC)

o ® ™,

B_g%ElFI'C!T

4 ® o1

Question Number : 13 Question Id : 201298793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The physical appearance of a keyboard resembles a

Options:
1 % Printer

o o Llypewriter



= % Scanner

4 % Monitor

Question Number : 13 Question Id : 201298793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 14 Question Id : 201298794 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Who among the following invented the machine to add numbers quickly and accurately?

Options:

, w Joseph Marie Jacquard

> % Gottiried Wilhelm von Leibniz
= « Blaise Pascal

4 % Herman Hollerith
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Single Line Question Option : No Option Orientation : Vertical
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Question Number : 15 Question Id : 201298795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In laptops, a(n) is used to convert AC to DC.

Options:
, « AC adapter

- # transformer
3 # rectifier

4 % resistor
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Single Line Question Option : No Option Orientation : Vertical
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Question Number : 16 Question Id : 201298796 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is an example of a primary memory?

Options:
% Solid-State Drive (SSD)

1
> % USB drive
- » Compact Disk (CD)

4 Random Access Memory (RAM)



Question Number : 16 Question Id : 201298796 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 17 Question Id : 201298797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
When we start a computer that is powered off, it is called:

Options:
, w Restarting

> % Wwarm Booting

-  Cold Booting

4 % Switching On

Question Number : 17 Question Id : 201298797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 18 Question Id : 201298798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following options does NOT represent network hardware component(s)?
Options:

. » Network Interface Card (NIC)

> % Switches
z % Hubs

4 File Transfer Protocol (FTP)

Question Number : 18 Question Id : 201298798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 19 Question Id : 201298799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following approach is true for ‘Time sharing systems’?

Options:
, w Batch processing approach

o « Interactive multiuser multiprogramming approach
5 » Single-user approach

4 % Single-user multiprocessing approach

Question Number : 19 Question Id : 201298799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 20 Question Id : 201298800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The other name for Inkjet printer is:

Options:
, % Liquid jet

» u Flow jet
5  Bubble jet

4 w Line jet

Question Number : 20 Question Id : 201298800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 21 Question Id : 201298801 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Inkjet, Laser and Thermal are common types of which of the following?



Options:
1 « Printers

> % Monitors
- # Keyboard

4 % Mouse

Question Number : 21 Question Id : 201298801 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 22 Question Id : 201298802 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the below represents a bootable disk?

Options:
, w Thehard disk of a computer system.

> « A disk that is used to load DOS into the RAM.
- % A mini floppy disk.

4 % ACD-ROM.

Question Number : 22 Question Id : 201298802 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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4 % CD-ROM

Question Number : 23 Question Id : 201298803 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

is the act of copying or downloading a program from a network and making multiple copies of it.
Options:
, = Network piracy

- u Plagiarism

5  Software piracy

4, # Site-license piracy

Question Number : 23 Question Id : 201298803 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 24 Question Id : 201298804 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
A website’s main page is called its page.

Options:
1 « Home

-~ % Browser



= % Search

4 % Book

Question Number : 24 Question Id : 201298804 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 25 Question Id : 201298805 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following CANNOT be part of an email address?

Options:
, = Period(.)

> w Atsign(@)

b

5 o Space( )

4 w Underscore ()

Question Number : 25 Question Id : 201298805 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
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Question Number : 26 Question Id : 201298806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
are primarily intended to use the World Wide Web, It can also be used to access information provided by web
servers in private networks or filas in file systems.

Options:
1 « Browser

> % Netfit
= % Windows-95

4 % Cable
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Single Line Question Option : No Option Orientation : Vertical
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Question Number : 27 Question Id : 201298807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
A program designed to destroy data on your computer, which can travel to "infect" other computers, is called:

Options:
1 % Disease

- u Torpedo

= % Hurricane

4 « Virus



Question Number : 27 Question Id : 201298807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 28 Question Id : 201298808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
To shrink a window, window.

Options:
1 ® Open a group

5 o minimize a
5 % maximize a

4 % restorea
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Question Number : 29 Question Id : 201298809 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



In MS PowerPoint 2016, the Header & Footer button can be found on the insert tab in what group?
Options:

; w Ilustrations group

> # Object group

3 of Text group

4 % Tlables group

Question Number : 29 Question Id : 201298809 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 30 Question Id : 201298810 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

In order to choose the font for a sentence in a Word 2016 document:
Options:

1 « select font from the home tab.

> # select font from the edit tab.
- % select font from the tools tab.

4 # select font from the view tab.

Question Number : 30 Question Id : 201298810 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 31 Question Id : 201298811 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The technique by which a digital signal is converted to analog form is known as:
Options:

1 « Modulation

> % Demodulation
- % Decryption

, # Encryption
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Question Number : 32 Question Id : 201298812 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A program that works like a calculator for keeping track of money and making budgets is called:

Options:



1 % calculator
> % scholastic
- u keyboard

4 « Spreadsheet
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
References that change automatically when you copy them to a new cell are called:

Options:
1 « Relative references

> % Absolute references
- % Mixed references

4 % Fixed formula references
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A collection of worksheets is called as:
Options:

1 % Excel sheet

> « Workbook
5 % Excel worksheets

4 % Excel book
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Question Number : 35 Question Id : 201298815 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Paragraph marks signify:
Options:

, » Beginning of a paragraph.

> % Saving of document has been done till the marked paragraph.



-  Pressing of enter key to mark the end of paragraph.

, % Current cursor position in the paragraph.

Question Number : 35 Question Id : 201298815 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
L P 5 +
AE A T Giod A 82

Options:

- T T AEHTT
ks =

&g fafeea s o o siegac B ¥9 ot AT B

. o TEE F AT F R FF & A0 e Gl @ ganr g

4 # YUAH F T99E AR Tl

Question Number : 36 Question Id : 201298816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A table is made up of rows and columns of cells that you can fill with:

Options:
, « Textor graphics

> u Only text
- % Only graphics

4 % Only clipart

Question Number : 36 Question Id : 201298816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
UF T BeW # 9Eodt AR TRt 5 BT 8 5 EeW # feeet 7 ¥ T wm o g 12

Options:

1 mmm

> R mm



T R mm

4 % el FTE

Question Number : 37 Question Id : 201298817 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The Today() function enters the current:

Options:
, w Systemtime ina cell.

- % system date and time in a cell.
-  System date only in a cell.

4 % timeonly ina cell.

Question Number : 37 Question Id : 201298817 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Today() e T ¥er 7 oar 9iase 34T 82

Options:

| % TF U H a9 [ aq9g

. » TFEr oo # fawem & s9a= o 3t gag

S f L [ Y
=  Had @EeH & TIHAE aRg

L
4 % hddl AT THY

Question Number : 38 Question Id : 201298818 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
replicates itself in order to spread to other computers.

Options:
, w Trojan Horse

» % Logic bomb

= « Worm



4 % Rootkit

Question Number : 38 Question Id : 201298818 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
3T FOEU H YHRA g & O T9T # gl gl

Options:

| S B

5 v TH

4 % & fpe

Question Number : 39 Question Id : 201298819 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

A directory within a directory is called:
Options:

, w Mini Directory

- % Junior Directory

- % PartDirectory

4  Sub Directory

Question Number : 39 Question Id : 201298819 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

T SFEY & Hateh SOEE & FIT Feal AT 87
Options:

. B Tl

™

FfAR sTEEed

g,
5 ® TIC ETAYEFELT
4 v TF TR



Question Number : 40 Question Id : 201298820 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
specifies which users have access to which operations.

Options:
1 % Access control list

- % Access control entity

- % Discretionary access control list

4  System access control list

Question Number : 40 Question Id : 201298820 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

fafese Far & & & sToEEast & O i ¥ 300 T 9T 2

Options:

| » TFHE Fgre e (Access control list)

, » UFHH FHerer UfedT (Access control entity)

. « T TFEH e T (Discretionary access control list)

, » THECH TFHH el TorFe (System access control list)

Question Number : 41 Question Id : 201298821 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Whal is the kev combination to alternate between displaving cell values and displayving formulas in the worksheet in MS
Excel?

Options:

1 ® CIRL +8
& 8 CTRI. +1
3z « CIRL+"°
4 8 CIRL +~

Question Number : 41 Question Id : 201298821 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



MS Excel ¥ i & &9 & w1 it waet =1 oAl @ wefim # F B S5 agee F1w i
Options:

, % CTRL + 8
> % CTRL + 1
s v CTRL +°

. % CTRL + ~

Question Number : 42 Question Id : 201298822 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which file format is used to save Microsoft Windows Media Player play list file?

Options:
1 % MPL

> % MWMPL
5 % WMPL

4 v WPL

Question Number : 42 Question Id : 201298822 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Microsoft Windows Media Player SHfereT BIEw & Oias & Br #i9 ¥ == wdT =1 390er &
AT 27
Options:

. % MPL
, % MWMPL
2 % WMPL

4 v WPL

Question Number : 43 Question Id : 201298823 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
What is the key combination to decrease font size by 1 point?

Options:
1 8 CIRL +



w CTRL +]

2
o CTRLAT
4 % CTRL+d

Question Number : 43 Question Id : 201298823 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
BV N HHR Teh G5 Ul o o7 FHoil FalTT T 7

Options:

, % CTRL

.I_

, « CTRL + ]
.« CTRL + [

. % CTRL + d

Question Number : 44 Question Id : 201298824 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
To use common formatting commands, which tab is opened?

Options:
1 % Format

> % File
= « Home

4 ® Edit

Question Number : 44 Question Id : 201298824 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

HHET TTFIUT FHEH F 3999 74 F BT 39 Fi @ &5 @eEre
Options:

, % Format

, % File

= « Home



4 = Edit

Question Number : 45 Question Id : 201298825 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which component of the computer contains the address of next instruction to be fetched for processing?

Options:

,  Program counter

5 # Accumulator
- % Instruction buffer

4 % Instruction pointer

Question Number : 45 Question Id : 201298825 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

FR F B g F THEROT F v A= F v ey Ader # vgw gar g7
Options:

1. ¢ 9raTH FI5

TFOHAT

o B D

. x SEFUF TH
, « SEEF TR

Question Number : 46 Question Id : 201298826 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In magnetic disk if number of tracks increases. storage capacity will

Options:
1 % decrease
> o increase

5 % Dotchange

4 % become null



Question Number : 46 Question Id : 201298826 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
T 3ve & afg ¢& & wEar g A1 § A FEeer aEa

Options:

% HH g ST

i

o TG ST
, « H P FEoT TG HICAM

=T ET FTTT

. A

Question Number : 47 Question Id : 201298827 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A " is the number of signalling elements per second sent by a communications device such as a modem.

Options:
1 ® Bit

> « Baud
5 % Byte

4 % Hertz

Question Number : 47 Question Id : 201298827 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
! " 9f3 Fhz ReaferT acat & T § S ARF A% U §UR 3T gaRT &9 J1d §

Options:

1_%-3%3

> « HIS
3 % SlE

Question Number : 48 Question Id : 201298828 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Which of the following TCP ports is used by Telnet?

Options:
1 ® 80

2.« 23

= % 38

Question Number : 48 Question Id : 201298828 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

eoleie T # ¥ &9 TCP 9i< &r 39T &:ar 272
Options:

Question Number : 49 Question Id : 201298829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
B chart demonstrates the relationship of individual items to the whole, comparing the contribution of each value
tor a total across categories in MS Excel.

Options:
1 % pic

> # line
= « stacked column

4 % surface

Question Number : 49 Question Id : 201298829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

MS Excel #, T L, AU F FEE IEGHT F HEY F O9EYE FA 2, HEH g g g9
H i A & Ve AT g & S gl

Options:




1_-5-3':"_&-

5 % Olpel

a3 w
3 « TCFs FleA

4_-%3-'\Erﬁ"_'vl.:r

Question Number : 50 Question Id : 201298830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
messages are never sent in response to datagrams with a broadcast or multicast destination address.

Options:
1 ® 1P

~ % ARP
3 ICMP

4 % BOOTP

Question Number : 50 Question Id : 201298830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
FISHIES TT ACLIRIES ITdeT UEH & HY TTENH & F99 H oo FT FAgT 9 IS £

Options:

. % ARP
-« ICMP

, # BOOTP

Question Number : 51 Question Id : 201298831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What do you understand by file naming convention?

Options:
, A framework for naming your files.

> w A framework that helps in transferring data from one file to another.



= % A framework that doesn’t relate to other files.

4 # A framework that describes how files are unrelated to other files.

Question Number : 51 Question Id : 201298831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
WSS ATHHIOT TRUET (Feaeld) ¥ 71T 7 FASS 87
Options:

| v HIAT FSA FH ATHST FA F [T TF AT

T AT, FAl 3¢T H T B d GAEL H AR #a H AGE Tl gl

> R

5 % U AT, J7 T Bl ¥ Heaad el 2l

« T FHATH, J I0TF ol ¢ & BEe 30T e ¥ $§ gefoa 8 g

4.

Question Number : 52 Question Id : 201298832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
are useful for quickly creating unweighted contingency table.

Options:
1 % Macros
> % Charts

= « Pivot tables

4 # Functions

Question Number : 52 Question Id : 201298832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
TR U T5F T ARTEAF SIS (unweighted contingeney table) IR & o Ioueh #)

Options:
1 ® ﬂﬁ-ﬁ'
o B EITé'

5 v MEe e



Section Id :
Section Number :
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Section Marks:
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Question Id : 201298833 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
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Yes
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The Newver- Mever Nest

Jack s drive vou (o the station
Aninl Jane S What! Travel in a car of which you vwn caly one e
and o

seats! Wo, thank voue----- T'll take the bus.
Jack  Well, of course if vou feel [ike thar about it....

Aunt Jane

{Feeling a little Mo, U osorry iF 1 soundad mde,

sorty absout her bt eeally I shocked to find e way vou're
living,. T"ve never owed a

own behaviour)  penny inmy life---—ee—--- cash down that™s my
Mt eemsmnneee g0 T weant vou to do the same, | She opens her
handbag. ) Mow look, here’s a little chaque I was meaning to give you,
amvway, [ She hands it to JILD Supposs you take it and pay off just ons
of vour billg-—mm——ee 50 that vou can say ore thing ai least really
belongs 1o vou,

Till (Awkowardly) : Er—Thank you, Aunt Jane. Tt's very nice of you.

Aumnl Jane : Thers! Now T st be going.

Jack I see wou to the Dus, anyway,

Jill s Good bve Annt Jans----—- and thanks so noch for the
presenl.

Aunt Fane oo b, oy dear.

{kissing her)

{ She and Jack go out. JUI leoks at the cheque and exclaims “Ten
Pounds!™ then she burries to the table, addresses an envelope. endorses
the cheque and slips it inzide with a kill which she takes from her bag,
and seals the envelope. Then she rings the hell. Tn a moment the MNurse
comes in with the babv in her arms.)

Jill DOl Nurse, 1 owans yon o min dovwn and poss s for me,
"1l loak atter batry
while vou're gone.

Murse s Certaindy, Madam. ( She hands the baber fo Jill, takes the
letter and goes)
A second later Tack comes in again.
Tack s Well, she's gone! What a tough lady? Still she did leave us
a bit om aceount

-==== 10w mmach was it?

Jill : Ten pounds
Jack ; Phew! That's greac! We can pay off the next oo
monihs on the car
witl thiat.

Jill s I—-T"in afvaid we can’i-—
Jack CWhiv ever nol?
JTill Dol sse, [—I've already senl it off for something else.
Murse has just gone

T post it
Jack s Well, that’s all right. Wiho have yvou sent it 107
il - Dr Martin,

Jack s D Mactin® What on earth possessed vou to do thai?



Sub questions

Question Number : 53 Question Id : 201298834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Why does Aunt Jane refuse to travel in the car?
Options:

, w Itis not working properly

- % It has a flat tyre
= # Jack doesn’t drive well

4 « Jack does not completely own it

Question Number : 54 Question Id : 201298835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Why does Aunt Jane give a present to Jack and Jill?
Options:

, % They ask for money to pay their bills

» % [Ihey do not have any luxuries in their house

5  She wants them to pay off at least one of their bills

4 % She s rich and they are not

Question Number : 55 Question Id : 201298836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

What is Aunt Jane’s advice to Jack and Jill?
Options:

, % Don’t pay anyone by cheque

-~ % Pay in small installments

5 o Don’t buy what yvou cannot pay for in cash

4, = Payall your bills in time

Question Number : 56 Question Id : 201298837 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



What sort of person does Aunt Jane appear to be?

Options:
, w» Rude and impatient

o  Strict and principled
5 » Pleasant and generous

, w Patient and happy

Question Number : 57 Question Id : 201298838 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Why does Jill rush the Nurse to post the cheque to Dr
Martin?

Note: For this question, discrepancy is found in question/answer. Full Marks is being awarded to all
candidates.
Options:

. To pay the last installment for their baby’s birth

- To surprise the doctor

- So that Jack cannot pay it for something else

4 So that Aunt Jane cannot ask for it back

Question Id : 201298833 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53t057)
Juestion Label @ Comprehension
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Sub questions

Question Number : 53 Question Id : 201298834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
T T FR H I A F ST FAT FLar 87
Options:

, x T8 &% ¥ FH G W W8

, % SHHA TH T TF 8
, « OF 30! g ¥ 3RT AL T §

, o I T TE T FHH AN A E

Question Number : 54 Question Id : 201298835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

ol S 3 ik By # s =t S

Options:

g T 3 T F A F % T 9 AR @

, » 3% W & F5 Fenflar 78 8

AT i F Iy T T T 7 T &5 TF F
¥ D El-ﬁ':

L % 98 FEAXE AN T AR AST €

Question Number : 55 Question Id : 201298836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

2% T o & v o= 39 T 33U gog 27

Options:

= < IR RET T ST J W

_, O et # s

, TG H g e 78 H Hehd 3H AT GG



FAT W 39 Tefr faelt &7 sprrare Y

4 ®

Question Number : 56 Question Id : 201298837 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

T T FE e = afaaa 22

Options:

w3 R iR
- v T&d AR fEaee

= gaaaﬂxrm

V- FEader AT g

Question Number : 57 Question Id : 201298838 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

ST, Alfe & I 9T A F fow foe 77 &1 F31
glerer 32

Note: For this question, discrepancy isfound in question/answer. Full Marks is being awarded to all
candidates.
Options:

A == F oA & fow H#faw fFem a1 gea=
AT

. EIeT H IMTIERT = F T

aife S 5@ e Ak e & v spraw a8 &=
Teh
=3

At T 3 5 T A A w9

OUANTITATIVE AFPTITULDE
Section Id : 20129873
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6

Number of Questionsto be attempted: 6



Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 20129873
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 201298839 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
In the following number series, one number is wrong. Find out the wrong number.

32 34 37 46 62 87 123
Options:

Question Number : 58 Question Id : 201298839 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
AT 8T T 4@en & UF W& Teid gl Teld HEAT FH IaT TET|

32 34 37 46 62 87 123
Options:

1 v 34

Question Number : 59 Question Id : 201298840 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Seema, Meena and Reema begin to jog around a circular stadivm and they complete their revolutions in 54 seconds, 42
seconds and 63 seconds respectrvely. Afver approximately how many minntes will they come together at the starting
proint?
Options:



1 % 8 minutes
> % 10 minutes
3 % 3 minutes

4 « O minutes

Question Number : 59 Question Id : 201298840 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Hrar, #er HT I vE gee BRTE & 9R #F S ST o F Fr § HT F FA 54 B, 42
Bz 2 63 I A H9 ge U L 8| 7O fhae e & A F et amamdh fag =T et

Options:

1 ® Sﬁ'i'l?lE

> % 10 fRaE
T & Sﬁ-'IF-IE

Question Number : 60 Question Id : 201298841 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The sum of twice a number and three times of 42 i3 238, What is the sum of thrice the number and two times of 427
Options:

1 ® 245

[

e
4
|-
L

Question Number : 60 Question Id : 201298841 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Ferer TeEOT T ST M 42 & FT ST a7 O 238 ¥ I Few & O T T 42 & g o A
e et Fiem?

Options:

| % 245



, % 250
- % 264

4@ 252

Question Number : 61 Question Id : 201298842 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What will come in place of the question mark (?) in the following question?

(2v392—21)+ (V8 —7) = (?)?
Options:
1% 4

2_53—4
3%312

4. v 6

Question Number : 61 Question Id : 201298842 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

F=ef@a ved & wea [®Ea (7) & T Fi9 @7 J19 HTE?

(24392 —21)+ (VB—7) = (2)?
Options:

L% 4
2% 4

4« B

Question Number : 62 Question Id : 201298843 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
75% of 8 number 15 equal to three-seventh of another mumber. What 15 the mtio between the first number and the second
number respectively?

Options:



i ® 7:4
T B 1277
4 % 7:12

Question Number : 62 Question Id : 201298843 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
el TEmT = 75% T wem TEw & A-AEe (37) F =T §) e 3. TEm AN Emy vEw F
T e F

Options:
1« 427
> % 7.4
z % 12 :7
g4 % 7 ;12

Question Number : 63 Question Id : 201298844 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Whar annual equal payment will discharge a debr of ¥ 25,220 due in 3 vears at 5% per annum componnded anmuallv?

Options:
, » 9261

> £9,216

5 x T8470

L % T8,407

Question Number : 63 Question Id : 201298844 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Y T 25,220 ® 5% Fr Ffw aT W 3 Tt & v Fw svv, & ot we s g oty
= TfE 79 W e I

Options:

. » ¥9,261



. x 29,216

. = 38,470
. 38,407
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Study the following arrangement carefully.

RESDAPSITIQVOHA# 2K % UIMWA2TEN

Three of the tollowing tour options are alike in a certain way based on the positions of the letters and mumbers in those

options in the ahove arrangement. Which is the one that does NOT belong 1o that group?

Options:
; # BK7

> % M*U
s« DPE

4 % WII
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1%« BK7
> & M=+ U
v DP E

A% WJ T
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The following question consists of two words that have a certain relationship to each other, followed by four letterad

pairs of words, Select that lertered pair which has the same relationship as the original pair of words.
Shower ; Deluge

Options:
1 « Utter : Yell

> % Shout: Cry

= % Thunder : Storm

4 # Real: Simulated
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In each of the following, four words have been given, out of which three are alike in some manner, while the fourth one
is differsnt. Choose out the odd one.

Options:

1 % Shehnai

-~ % DBagpipe
z ® Flute

4 « Sitar
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FefafiE =R aedt 7 & &= 5E ale & v §A 81 S U HAg § T g 3H TEAe

Options:

1. % 2o é

4 v TEAR
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Twao statements are given. There may be & cause and effect relationship between the two statements. These twa

statements may be the ettect of the s:ame cause or independent causes. These statements may be independent canses
without having any relationship. Read both the statéments in each question and mark vour answer.

L The universitv authoritv has instructed all the colleges under its jurisdiction to ban use of all phones inside
the college premizes.
iI. Wiajorily of the teachers of the colleges signed 4 joint petition to the university complaining the disturbances

caused by cell phone ring-tones inside the classrooma.
Options:
1 % Statement I is the cause and statement II is its effect.



> « Statement II is the cause and statement I is its effect.

- » Both the statements I and II are independent causes.

4 » DBoth the statements I and II are effects of independent causes.
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In the following question, a word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are represented by two classes of
alphabets as in the two given matrices. The columns and rows of Matrix [ are numbered from 0 to
4 and those of Matrix IT from 5 to 9. A letter from these matrices can be represented first by its row
and then the column number e.g. in the matrices for questions 1 to 4, M can be representedby 14,
21.etc; o canbe represented by 20, 32, etc. Similarly vou have to identify the correct set for the
word given in the question.

given in the question

MatrixI Matrix IT

0 1 2 3 4 5 6 7 8 9
0 F 8] M s R 5 A T D | P
1 S5 R F o M 5] | P A T D
2 o M s R F 7 T D | P A
3 R F O M s 2 P A T D [
4 M 5 R F L8] g D | P A T

ROAD

Options:
| % 42,32,79,58

, w 23,32,98,99
s o 11,13,67,69

4w 04,20,55,78

Question Number : 68 Question Id : 201298849 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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A M| B|R|F | DO (e leli1|PlAIT
ROAD
Options:

| % 42,32, 79, 58

. = 23, 32, 98, 99

. v 11, 13, 67, 69

, = 04, 20, 55, 78

Question Number : 69 Question Id : 201298850 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Select the option which satisfies the same conditions of placement of the dot as in the figure shown here.

@

Options:



1.4
A
o R
3.%3
=
4 ® R
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“Whether I earned your vote or WOT, I have listenad to vou T have learned from you. You have made me a better
President.” It is said by:

Options:

, % Pranab Mukherjee

> « Barak Obama

- # George Bush



4 % APJ Abdul Kalam

Question Number : 70 Question Id : 201298851 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 71 Question Id : 201298852 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Match List-I and List-II.

List-I (Person) List-II (Well-Known as)
A, Amrita Sher-Gil 1. Dancer

B. Bhimsen Joshi 2. Painter

C. Rukmini Devi Arundale 3. Poet

D. Suryakant Tripathi Nirala 4. Singer

Options:

, % A-2,B—1,€—-4,D-3

e

» & A—2,B—4,€—1,D~3

5 x A—-3,B—1,C-4,D-2

4% A-3,B—4,C-1,D-2
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Options:

yow A=EB-HC-4 D-3
i A=E B -4, C-4 B-3
oy i B-4, 04 B -2

g A'S,B'4,C-1,D-2

Question Number : 72 Question Id : 201298853 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 1 WrongMarks: 0
Read the assertion and reason given below and select the option that is correct.

Assertion (A): Straight slope is a type recognised by W. Penck.

Reason (R): Straight slope develops due to increasing intensity of erosion.
Options:

, » Both A and R are true and R s the correct explanation of A.

-  Both A and R are true and R is not the correct explanation of A.

= % A Is true but R is false.

4 % A s false but R is true.

Question Number : 72 Question Id : 201298853 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Correct Marks: 1 WrongMarks: 0
The Bank Rate is the rate of interest at which the Reserve Bank of India provides loans to the:

Options:
1 « Scheduled Commercial Banks

> # Public Sector

5 % Corporate Sector

, w Foreign Institutional Investors

Question Number : 73 Question Id : 201298854 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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The chemical formula of lunar caustic is:
Options:

1 % NaOH



4 % AZ2S04

Question Number : 74 Question Id : 201298855 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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TR FEesh H TS T El

Options:

. % NaOH

. « NaNO3
-« AgNO3

4 % Ag2S04

Question Number : 75 Question Id : 201298856 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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During whese Vicerovship did the High court come into existence at the three presidential cities of Caleutta, Madras
and Bombay?

Options:

, % Waren Hatings

> % Lord Cornwallis
z « John Lawrence

4 % Lord Dalhousie

Question Number : 75 Question Id : 201298856 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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The power of concentration manifests as focused attention and as a one pointed mind. When you focus your
rind on sormething, you Conserve your energies and do not dissipate therm on irrelevant thoughts, This 15 why,
developing concentration is vital for anyone, who is aspiring to be more efficient in life. Without it, your efforts
get scattered, but with it, vou can accormplish great things. Concentration has many uses and benefits. It
assists in studying, enables faster comprehension, improves the memory and helps in focusing on a task.
Therefore, it can be rightly referred to as a powerful tocl that helps vou use creative visualization and dewelop
psychic powers. When this ability is strong, the mind obeys you more readily and does not engage in futile or
regative thoughts. This ability plays an important role in meditation, gaining mental mastery, and attaining
peace of mind. & person, who does not concentrate or meditate often, finds himself irritated, restless and
annoyed. Such a person is often found to be occupied with restless thoughts claim his attention constantly,
thereby wasting his time and energy on useless matters. These thoughts actually rule their life. They become
50 used to such conditions that they regard it as natural. However, it is one of the most dangerous situations
that a human being can encounter in his life. 50, develop this power. You only need to train and exercise it.
Forget all your excuses about rot having the time or being too busy. Do ot say that the circurristances are not
appropriate, or that vou cannot find a quiet place to exercise. With a little planning, desire and motivation, you
can always find the time to exercise each day, no matter how busy you are. Just make sure that you do not
inner resistance to concentration. For example, telling a child often, that he or she is not concentrating well
enough, Ccreates a subCornscious aversion to concentration and study. These hecome associated with Coerciorn,
lack of freedom, and doing something they do not like to do. Hence, when children grow up, it is no wonder
that their power of concentration is too weale One needs to understand that concentration can be a real fun, if
approached in the right way. [t should be practiced with joy, positive attitude, optimism, and understanding of
its great possibilities. Once you understand the importance and benefits of developing the power of
concentration, you will certainly grow as a mature human being. Some of the major benefits include, complete
cortrol on your thoughts, ability to focus your mind, freedom from futile and annoying thoughts, better
mermory, peace of mind, improved self-confidence, inner strength, inner happiness, more power ful and
efficient use of creative visualization, deeper and rmore successful meditation.
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La Tomatina is a food fight festival held on the last Wednesday of August each year in the town of Bunol near
to Valencia in Spain. Thousands upon thousands of people make their way from all corners of the world to
fight in this Worlds Eiggest Food Fight, where more than one hundred metric tons of over-ripe tomatoes are
throwr in the streets Since 2013 official ticketing has been in place, limiting the number of participants to just
20,000 lucky people There is limited accommodation for people who come to La Tormatina. So, many people
take the easier option of staying in nearby Valencia just 38km to Bunocl by bus or train. In preparation for the
dirty rmess that will ensue,shopkeepers use huge plastic covers on their storefronts in order to protect them
from the carnage At arcund 11am, many trucks haul the bounty of tomatoes into the centre of the towr, Plaza
del Fueblo. The tomatoes come from Extremadura, where they are less expensive. Technically the festival does
not begin until cne brave soul has climbed to the top of a two-story high, greased-up wooden pole and
reached the coveted ham at the top. In practice this process takes a long time and the festival starts despite no
one reaching the meaty prize. The signal for the beginning of the fight is firing of water cannons, and the
chaos begins. Once it begins, the battle is generally every man for himself A fter an one hour, the fighting ends.
At this point, no more tomatoes can be thrown. The cleaning process involves the use of fire trucks to spray
dowr the streets, with water provided from a Roman aqueduct. The authorities searr more concerned with
Cleaning the town than cleaning the visitors. 5o, some people find water at the Bunol River to wash themselves,
although some kind residents will hose passers-by dowr. Once the tomato pulp is flushed, the ground is
cleaned due to the acidity of the tomato. The Rules of La Tomatina Do not bring bottles or hard objects as they
carn cause accidents and hurt other participants Do not rip other people's T-shirts You rmust squash the
tomatoes before throwing them as this reduces the impact Ensure yvou keep a safe distance from the lorries As
50011 a5 you hear the second shot, you must stop throwing tomatoes Useful Advice. Wear closed shoes that you
do not mind throwing away afterwards. If vou wear flip-flops, vou may get hurt, or you could lose therm easily
during the battle. Wear cld clothes, or Clothes that vou are not planming to wear again. They will most likely
end up darmaged from being ripped or incredibly dirty.
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